
Assembly Instructions

RECLINING ADIRONDACK

Caution: You must read this before you proceed

 

CAUTION :  This Adirondack is NOT a TOY. 
Keep your child / children at bay during the assembly process.
For moving the Reclining Adirondack and to prevent damage to the   
Reclining Adirondack, two adults are needed to execute this action.  

Page 1 OF 10    



Label Picture Description QTY 

A 

B 

C 

D 

E 

F 

G 

Seat Panel with Footrest

Backrest

Right Front Leg

Support Bar of Front Leg

Left Armrest

Right Armrest

1

1

1

1

1

1

1

Parts List

Left Front Leg

Page 2 OF 10    



Label Picture Description QTY 

H 

I 

K 

1

1

1

Parts List

Label Picture Description QTY 

7

1

2

3

4

5

6

Bolt (M8x35) 

Sleeve Nut (M8x15)

Long Screw (M7x70)

Short Screw (M7x40)

13

13

3

Allen Key    

Screwdriver   Not provided

Screw (M4x30)
(Use with Screwdriver) 5

3

2

Recliner

Support Bar of Right 

Armrest

Support Bar of Left

Armrest

Page 3 OF 10    



Before Beginning Assembly:

Page 4 OF 10    



Step 1

This Reclining Adirondack has multiple parts and may require up to 30 minutes to 

assemble. To give you an overview of the  Reclining Adirondack parts, the above 
           to help you put the various parts into perspective. Please read t hrough 

      the instructions below to familiarise yourself with the parts and steps before 
assembly.

Unpack and place all parts on a clean, non-marring surface.

OVERVIEW

Backrest (B)

FRONT FACING

Recliner (K)

Support Bar of 

Left Armrest (H)

Left Front Leg (C)

Left Armrest (F)

Footrest (A)

Right Front Leg (D)

Seat Panel (A)

Right Armrest (G)

Support Bar of 

Left Armrest (I)

picture is 

Page 5 OF 10    



Step 2Step 2

Step 3

Place the Seat Panel with Footrest(A) onto a clean, non-marring surface.

2.1) Remove pre-fixed holding bars of the Footrest that are inside Seat Panel 

2.2) Pull the Footress out of the Seat Panel as indicated by the arrow .
Note: Please keep the screws and holding bars and put aside for Step 8

by using Screwdriver(⑦)

Attach Support Bar of Front Leg(E) to Left Front Leg(C) and Right Front Leg(D) 

using Screws(⑤) with Screwdriver(⑦).

Footrest Step 2.2

Step 2.1

A

Pre-fixed Holding 
Bars

7

7

5

D

C

E

Page 6 OF 10    



Step 4

Step 5

 

Stand the Seat Panel(A) vertically as shown in the picture.
With the assistance of an adult helper, secure Front Leg Frame from Step 3 to 
Seat Panel(A) using Bolts(①), and Sleeve Nuts(②) with Allen Keys(⑥).
Do not fully tighten the Bolts.

Place the Backrest(B) onto Seat Panel(A) as shown in the picture.
5.1) Secure Support Bar of Left Armrest(H) to Backrest(B) using Short Screw(④) 
with Allen Key(⑦).
5.2) Secure Support Bar of Left Armrest(H) to Seat Panel(A) using Bolts(①), 
and Sleeve Nuts(②) with Allen Keys(⑥).
Do not fully tighten Bolts and Screws.
Repeat the same process with the Support Bar of Right Armrest(I).

6

1
2

6

A

Step 5.2

Step 5.1

A

B

H

6

4

6
1

6

2

Page 7 OF 10    



Step 6

Step 7

Position housing of Recliner(K) into oval mortise of Backrest(B).
Secure Recliner(K) to Backrest(B) using Long Screws(③) with Allen Key(⑥)
Do not fully tighten the Screws.

Attach Right Armrest(G) to Left Front Leg(C) and Support Bar of Left Armrest(H) 
using Bolts(①), and Sleeve Nuts(②) with Allen Keys(⑥).
Do not fully tighten the Bolts.
Repeat the same process with Left Armrest(F).

K

B

3
6

G
H

6

1

6

2

Page 8 OF 10    



Step 8

Step 9

Reattach holding bars and screws from Step 2 to Footrest using Screwdriver(⑦).
The holding bars are to prevent the Footrest from falling out of the Seat Panel.
In a sequential manner, tighten all Bolts and Screws at all joints until fully locked
into position. 

STORE

OPEN

7

Footrest

Holding Bar

Page 9 OF 10    

Your Reclining Adirondack is ready for use.
This Adirondack can only be used on a flat, level surface.
The Footrest can be stored under the Seat Panel when not in use.
To Open, by hand, pull the Footrest outward and unfold the Footrest's Leg
To Store, by hand, fold the Footrest's Leg and push Footrest into under the Seat Panel



Page  OF     10 10


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10

